RERFOL G A P L 20 Bk AT AP O7 E fCE 4
%‘L;f > F 743 t’f?——ﬁﬁ DN FE RN ﬁﬁivé‘vé‘{g ﬁ\ B EAEr L EE(F 4 4R 20 &)

ELE ML 4 A 1 42(46509) XHH B HH od B
BFEFE(Q): RMEF MR P -

AR OREL L - EH G o £ 10 AW AR(E KGR A 2 4) 8w < AL K FAE(F 4 AR 20 4) - PIR A H g T A S oRBaE 2 [10 4] Z3ha wlmp & iR L 2 #rid

@KE‘\!'X%‘Egﬁ*i }’_")_%‘ é%‘él-%‘ﬁ \]F@,TFlkgitép\%—ﬁpaﬁpd‘?j’kﬁ'ﬁ;j [10Av\]
HE S den . o i “‘?};PFE#%‘E IERRMRE N F KT RGN TR RREED AN E EA o
SFALR A d) AT i AR AT

Oy L Fh & WEBFE0~9 2 + —x+/ YMz s 2 f§ 5 2545 o

DEFEFFeHY  FRFGHLESFE

®E =

A0 (FH24) FANACBABEEFE o RERIE X R PRl g RS R H i
%g&éﬁifﬁr'r :

BlHE SAEE (REAZ) AL B (PRE BE)

1.5 A MAREEZ R B8 3 BLplgh2z JE4E > F P F 55 1203 m~ T 5 1.006m > BREZZRE

ALFEF B K=103 > B & B 5 BLip| 2L 2 R34 o
2.1 * - f“ﬂ‘%fi 4 £(3mm+2ppm) F F PIFE R BRI FEHLY 300 m 2 B 8L 0 B 7R iR EE I 1023 1 304
111 1.201 1.506

B kR 2 AT RE ARG 2 £-F §EY > L oRE R B G - AR o v 1111 1409
\Y% 0.993 1.293

4.5 4 278 HokEpE s FELSAECFEK1222m FARE FHK1306m ¥
(E35m)

{5 ARLEBLE #2% 399.120m > R ALEE R A2 5 o
S.f it * iR (T & RBLRIPFF I HE R ORGP A DR E kAL B B E=tpply sk ERFRD I pHE > ¥ r AREF AL 1399.208 M 7K B 2
A A e BAEZEBENEELIRP? [104] 2 ARl E2 5 EPIHEE & TBPIZEEL L S
= ? [10 2 )
BB TR B RBBIE 2 H AL 207 FHF - B ERBR 6 S TIOE L4
RZBad B PrBd B2 HAERS o
TE-PLERBGRPLLL 103 HRP L L5 1.86cm ER L BIEZE L 1.863 ‘e =
kmo Rt R AR S - s a4 s ‘ ey oA e
m R f ot AP E R EPEEH R QAR BRI EFRSF - 2 9 S 220" AR H R
8Eipl- £33z B L FLEAEZHEBFRL 2056+0.03m- A2 HHFA 5 10.12+0.02 fie (7 48 5 s cnipl EEEE & 7
m> RFZE A nFEHRS o
O.- &% MR EMHAESTL RS PRt gL R AR R R AR
105 85 T F * i BP0 5 T A

AR AR R TR ¥ 24 (control point) 2 * & 5 @ 7 [10 4] H vl
L& F RBE? [104])



